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Question 1

Correct

2.00 points out of 2.00

A function in tail form always returns a boolean.

Select one:

True

False

The correct answer is 'False'.

https://ccle.ucla.edu/mod/quiz/review.php?attempt=2464105&cmid=2123216
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Question 2

Correct

2.00 points out of 2.00

The following Java expression is in tail form:

Xx.T(1) + y.g(2)

Select one:
True
«  False ¢

The correct answer is 'False'.
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Question 3

Correct

2.00 points out of 2.00

The following Java expression is simple:

(b) 2 1 : x.f(2)

Select one:
True
«  False ¢

The correct answer is 'False'.

Question 4

Correct

2.00 points out of 2.00

In some cases we can represent a continuation as an integer.

Select one:
» True
False

The correct answer is 'True’.
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Question 5

Correct

2.00 points out of 2.00

Quiz: How to compile lambda-expressions

The transformation rules on the slides p.12-13 will transform from this Java code:

static Function<...>
f =
n —>
n <=27
1

: f.apply(n-1) + f.apply(n-2);

to this Java code:

static BiFunction<...>

v2 —> k.apply(vl + v2)));

fCPS =
( n ’ k) —->
n<=27
k.apply(1)
: fCPS.apply(
n-1,
vl —> fCPS.apply(
n-2,
Select one:
True
False

The correct answer is 'True’.

https://ccle.ucla.edu/mod/quiz/review.php?attempt=2464105&cmid=2123216
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